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CH-1

e Number in short form :-

In expanded form , we write : 62 =6
tens + 2 ones

Thus, in short from , we write : 6
tens+ 2 ones=62.

Some other numbers in short from
are given below :

2 tens + 5 ones = 25
/ tens+3 ones= 73
6 tens + 9 ones = 69
4 tens+ 1ones=41
9 tens + 8 ones = 98
e Practice sheet

Write the following in short form. ( According



To the example). One is done for you.
5 tens+8 ones = 58

a.5tens+5o0nes=__
b. 9tens+3 ones=
c. 4tens+/7ones=__
d. 8tens+9ones=___
e. /tens5ones=__
f. 5tens+1ones=__
g. 1tens+2ones=

h.2tens+8ones=__
I. 7tens+0ones-=
j. 3tens+ 3 ones=
k. 2 tens + 1 ones =
|. 4 tens + 3 ones =
m. 6Tens+9ones=__







